Test
Multiple choice
1. For which type of thyroid carcinoma surgery is not the best treatment option?   (  )

A.medullary thyroid carcinoma   B.papillary thyroid carcinoma

C.follicular thyroid carcinoma    D.anaplastic thyroid carcinoma
2. Which disease do not usually cause thyroid dysfunction?  (     )                                

A. Hashimoto's thyroiditis       B.acute thyroiditis

C.thyroid carcinoma            D.Graves disease
3. A 25-year-old postpartum woman was presented to the hospital with a mass in the breast, the mass was enlarging during lactation for 2 weeks, while the pain and redness of the overlying skin was developing. PE: T 38.2℃. what’s the most probable diagnosis?     (     )

A. acute mastitis                B. fibroadenoma of breast

C. breast cyst disease         D. paget’s disease
4. Which of the following is the most frequent pathological type of breast cancer?  (    )

A.lobular carcinoma in situ      B.ductal carcinoma in situ

C.invasive ductal carcinoma     D.invasive lobular carcinoma
5. Which is the most critical complications after thyroid surgery? (    )

A. thyroid crisis                    B. tetany

C. recurrent laryngeal nerve injury     D. dyspnea and asphyxia
6. A patient with a history of familial polyposis undergoes a diagnostic polypectomy. Which of the following types of polyps is most likely to be found?  
a. Villous adenoma   b. Hyperplastic polyp

c. Adenomatous polyp  d. Retention polyp  e. Pseudopolyp
7. Which of the following colonic pathologies is thought to have no malignant potential?  
a. Ulcerative colitis  b. Villous adenomas c. Familial polyposis 

d. Peutz-Jeghers syndrome e. Crohn’s colitis
8. Which of the following statements regarding direct inguinal hernias is true?   
a. They are the most common inguinal hernias in women

b. They protrude medially to the inferior epigastric vessels

c. They should be opened and ligated at the internal ring

d. They commonly protrude into the scrotal sac in men

e. They incarcerate more commonly than indirect hernias
9. During an appendectomy for acute appendicitis, a 4-cm mass is found in the midportion of the appendix. Frozen section reveals this lesion to be a carcinoid tumor.   
Which of the following statements is true?

a. No further surgery is indicated

b. A right hemicolectomy should be performed

c. There is about a 50% chance that this patient will develop the carcinoid syndrome

d. Carcinoid tumors arise from islet cells

e. Carcinoid syndrome can occur only in the presence of liver metastases
10. A 28-year-old previously healthy woman arrives in the emergency room complaining of 24 h of anorexia and nausea and lower abdominal pain that is more intense in the right lower quadrant than elsewhere. On examination she has peritoneal signs of the right lower quadrant and a rectal temperature of 38.38°C (101.8°F). At exploration through incision of the right lower quadrant, she is found to have a small, contained perforation of a cecal diverticulum. Which of the following statements regarding this situation is true?  
a. Cecal diverticula are acquired disorders

b. Cecal diverticula are usually multiple

c.Cecal diverticula are mucosal herniations through the muscularispropria

d.Diverticulectomy, closure of the cecal defect, and appendectomy may be indicated

e.An ileocolectomy is indicated even with well-localized inflammation

11.Which choice is not the typical symptoms of the congenital cholangiectasis?  
a.Abdominal  pain

b.Abdominal  mass

c.Jaundice

d.Vomit
12.Which is the first choice for the diagnose of cholecystolithiasis?  
a. Type-B ultrasonic

b. CT

c. MRI

d. MRCP
13.Which choice is not the function of the gallbladder?   
a. Concentrate the bile

b. Drain the bile 

c. Secrete the mucus

d. Secrete the bile
14.Pancreatic endocreine tumors inculed several types except_ ___?

a. Insulinoma

b. Gastrinoma

c. Glucagonoma

d. Parathroidoma
15.The main symptom of cancer of the head of the pancreas is?  
a. Jaundice

b. Abodominal pain

c. Abodominal mass

d. Fever

16. Investigation of choice in gall bladder is – 
a. USG   b. X-ray abdomen

c. OCG  d. Intravenous cholangiogram

17. Which of the following is not a component of Reynold’s Pentad in toxic cholangitis?  
a. Right upper quadrant pain

b. Confusion

c. Septic shock

d. Markedly elevated transaminases

18. Most common cause of biliary stricture is- 
a. CBD stones

b. Trauma

c. Asiatic cholangitis

d. Congenital

19. Most common case of acute pancreatitis is- 
a. Biliary tract diseases

b. Alcoholism

c. Post traumatic

d. Idiopathic

20. Whipple operation is seen in- 
a. Islet cell tumor

b. Ca head pancreas

c. Argentaffinoma

d. Cholangiocarcinoma 
21.Which one of the followings is the most dominant type of thyroid carcinoma in clinic situation? 
follicular  B. medullary  C. papillary  D. squamous cell

22.  Which treatment is NOT included during the preoperative preparations of selective thyroidectomy for hyperthyroidism? 
iodine solution  B. valium  C. Propanolol  D. Methylthiouracil (MTU)

23. The most common pathogen of acute mastitis during breast feeding period is____? 
A.Staphylococcus aureus  B. Streptococcus hemolyticus

C.Tubercle bacillus  D. Clostridium tentani

24. Which one of the following characters is unfavorable prognostic factor for breast carcinoma patients?  
A. WHO histological Grade I  B. ER and PR positive  

C. Her-2 positive  D. sentinel lymph node negative 

25. Which one is NOT the clinical symptom of advanced breast cancer? 
A.upper limb edema  B. hemorrhagic nipple discharge

C.local skin pitting   D. Satellite nodules on chest wall

26. Which structure can NOT be exposed during routine mastectomy and axillary lymph node dissection for invasive breast carcinoma? 
A. brachial plexus  B. intercostobrachial nerve  
C. intercostal nerve  D.long thoracic nerve

名词解释

Paget's Disease of Breast: 

Calot triangle：
Richter’s hernia：
Essay questions
1. Please summarize the comprehensive treatment of breast cancer.

2. What is the Complications of Dudenal Ulcers, clinical feature and treatment  of each complication?
3. What are the common complications of the operation on biliary tract?

病例分析Case analysis 
This 62 year-old man with a long history of drinking was admitted to the hospital because of abdominal pain, abdominial  distension, vomiting for 8 hours. On admission, his blood pressure was140/80 mmHg, pulse rate 95/min and respiratory rate 24/min. He had abdominal tenderness without rebound tenderness. B-mode ultrasonic showed that the pancreat is swelling. The leukocyte is 15*10^9. The hemodiastase is 1200U/dl.

Questions:

1. What is your diagnosis about the patient?

2. What differential diagnoses should you think about?

3. What examinations should do to confirm the diagnose.

4. What is the principle treatment to the patient?
